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1.

If a perfectly competitive firm produces an output level where price is greater than marginal costs,
then the firm should '

A) pay more to its variable factors of production.

B) contract output to earn greater profits or smaller losses.

C) expand output to earn greater profits or smaller losses.

D) leave its output decision unchanged.

Generally speaking, demand for a good will be more inelastic

A) if few substitutes exist.

B) when the good represents a large share of the consumer's budget.
C) in the long run.

D) when many substitutes exist.

The cross price elasticity for bread and potatoes is estimated to be 0.4; this implies bread and
potatoes are '

A) normal goods. B) substitutes.

C) unrelated. D) complements.

Assume country M and the members of OPEC produce crude oil. Realizing that it would be in
their best interests to form an agreement on production goals, a meeting is arranged and an
informal, verbal agreement is reached. If both country M and OPEC stick to the agreement OPEC
will earn profits of $20 million and country M will earn profits of $10 million. If both country M
and OPEC cheat then OPEC will earn $17.5 million and country M will earn $8 million. If only
OPEC cheats, then OPEC earns $18.5 million and country M $6 million. If only country M cheats,
then country M earns $11 million and OPEC $15 million. OPEC finds that it has

. A) a dominant strategy of cheating.

B) a dominated strategy of cheating.
C) a dominant strategy of not cheating.
D) no dominant strategy.

Which of the following would increase the investment component of Taiwan GDP?

A) You purchase a new clothes washing machine produced in the Taiwan.

B) You purchase a new-clothes washing machine produced in China.

C) A laundry in Kaohsiung purchases a new clothes-washing machine produced in the Taiwan.
D) A laundry in Hong Kong purchases a new clothes-washing machine produced in the Taiwan.

Frictional unemployment is:

A) the unemployment that results when people retire or leave the labor force.

B) the additional unemployment not captured in official statistics resulting from discouraged
workers and the involuntary part-time workers. '

C) the extra unemployment that occurs during periods of recession.

D) short-term unemployment that is associated with the process of matching workers with jobs.

Why doesn't the Fed have both a money supply target and an interest rate target?

A) Only the level of interest rates matters when we consider rates of growth in real GDP,
employment, and rates of price inflation. '

B) Short term interest rates do not respond to changes in the money supply, which the Fed can
control. '

C) The Fed does not control money demand.

D) The Fed cannot offset the impact of changes in cash management by the public or changes in
lending policies of commercial banks on the money supply.
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14.

Your economics professor has announced the following grading policy: For each exam, the highest
score in the class will be entered as a 100%; all other scores will be entered as the percent of that
top score. For example, if the highest test score is a 50 out of 100, it will be counted as a perfect
paper, and exams with a score of 40 out of 100 will be entered as an 80%. The final grade for the
course will be determined using these adjusted percentages, with 90% and above an A, 80% and
above a B, 70% and above a C and below 70% not passing. The students all get together and
decide not to study for the next exam because if nobody does extremely well, they will all do okay.
This plan

A) requires everyone to follow their dominant strategy.

B) will be stable because there are no incentives to deviate.

C) will be unstable because there is an incentive to break the agreement.

D) is a commitment device, and thus stable.

To close a recessionary gap, the Fed ____ interest rates which planned aggregate spending
and short-run equilibrium output.

A) lowers; increases; increases

B) raises; decreases; increases

C) raises; decreases; decreases

D) lowers; increases; decreases

Other Things being equal, a decrease in the rate of inflation planned spending and _____
short-run equilibrium output.

A) increases; increases

B) increases; decreases

C) decreases; decreases

D) decreases; increases

Government policymakers can respond to an overvalued currency in each of the following ways
EXCEPT by: :

A) devaluing the currency.

B) restricting international transactions.

C) increasing the official value of the currency.

D) becoming a demander of the currency in the foreign exchange market.

Suppose that the Taiwan can produce 400 million donuts or 10 million cars in a year. China can
produce 1600 million donuts or 8 million cars in a year. Both countries will-gain. from.trade.if
Taiwan cars and China donuts.

A) exports; exports ’ '

B) imports; exports

C) exports; imports

D) imports; imports

When aggregate expenditure is less than GDP, which of the following is true?

A) There was unplanned inventory investment.

B) Firms spent more on capital goods than they anticipated.

C) All of the above must be true when aggregate expenditure is greater than GDP.

D) Households bought more new homes than they anticipated

If workers leave a country to seek out better opportunities in another country, then this will
A) move the original economy down along a stationary short run aggregate supply curve.
B) move the original economy up along a stationary short run aggregate supply curve.

C) shift the short run aggregate supply curve of the original country to the left.

D) shift the short run aggregate supply curve of the original country to the right.
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15. According to the "Taylor rule", the Fed should set the target for the federal funds rate according to

an equation that includes
A) the inflation rate, the equilibrium real federal funds rate, the "inflation gap", and the "output

gap".

B) the inflation rate, the expected inflation rate, and the rate of growth of real GDP over the last

two quarters.
C) the unemployment rate, the inflation rate, expected aggregate expenditure, and firm

investment.
D) the equilibrium level of real GDP, the expected inflation rate, the "credibility gap", and the

unemployment rate.
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 BRE SHABEE AT ABBELERE HRN-RKEFNRIMAEERE 20T

BHRESHEFVIBYEN  BRBEFHFEHLEES - (159)
NHESE -G E ARBGEE X THREET BLABEEAME 00 T4 A

BHEAHN—HFRORSBALBEESH IS T - _

(@) NREERIAESL ABRIEBHEEE  BRERGHA(HHRER)RAS 10 T
FHAFRBETHAT (G H) | |
(b) B3%/NAHR B HEEF —EESE  BREFF T AS R TRESALFR 20

Ba(R)H%A A BEENEDHRAAHENRERENE 5 EAKA)  BRER
BB ZRAL2A  HH AT H TERX B THREFR ) TR VFRARNE
B ° (10 %)
In U.S., the federal budget exhibited a $128.7 billion surplus in 2001 but decreased to a deficit of
$157.8 billion in 2002. Some economists argued the deficit was due to the Bush 2001 tax cuts. But
others argued that the deficit was due to the recession suffered in 2001. Evaluate the validity of the

- two arguments. (15 %)

A homogeneous products duopoly faces a market demand function given by P =500-100. Both
firms have a constant marginal cost of MC =200. What is the Cournot equilibrium quantity per
firm and_price in this market? (10 %)
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7. AR EN—ARAEEEIAEIABRAGTAER > ARAESER
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27. M EBRGEEIIEER S ETH wWE ratios » inventory turnover /& W —4&7
a. Profit b.Liquidity c.Leverage - d.Activity
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a. FEEMRRK b. &5 & c.HEX dRELREX
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a. unity of command b. centralization
c. scalar chain d. stability of staff
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c. paternalistic d. democratic participation
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37. ARAGBIAT > ERBEEMBERORRRTRELLT—HY
a. A b. & R #i C. & HAH d. R H

B SHEREHE SE-LIHAILREARE - TAMERTELT
a BRAL  DEBAL AR ik d# KRR
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1.

Suppose a competitive firm and a monopolist are both charging $5 for their respective outputs.
One can infer that -

A) marginal revenue is $5.for both firms.

B) marginal revenue is $5 for the competitive firm and less than $5 for the monopolist.

C) marginal revenue is less than $5 for both firms. '

D) the competitive firm is charging too much and the monopolist too little.

One reason that variable factors of production tend to show diminishing returns in the short run is’

that

A) too much capital equipment is idle.

B) there are too many workers using a fixed amount of productive resources.
C) the firm has become too large to effectively manage workers.

D) the cost of hiring additional workers increases as firms seek to hire more.

You have noticed that there is a persistent shortage of teachers in an inner-city school district in
your state. Based on this observation, you suspect that

A) The wage for teachers at those schools is higher than at other schools in the state.

B) The wage for teachers at those schools is lower than the equilibrium wage.

C) There is an excess supply of teachers.
D) The reservation price among teachers is lower than for other professions.

Assume that a profit maximizing monopolist is producing a quantity such that marginal revenue

_exceeds marginal cost. We can conclude that the

A) firm is maximizing profit. :
B) firm's output is smaller than the profit maximizing quantity.

'C) firm's output is larger than the profit maximizing quantity.

D) firm's output does not maximize profit, but we cannot conclude whether the output is too large
© or too small. :

Use the following two statements to answer this question:
I Increasing returns to scale cause economies of scale.

IL. Economies of scale cause increasing returns to scale.
A) Both I and I are true. B)I is true and 11 is false.
C)1is false and II is true. D) Both I and I are false.

If a monopolist sets her output such that marginal revenue, marginal cost and average total cost are
equal, economic profit must be: ' ‘

A) negative. B) positive.

C) zero. D) indeterminate from the given information.

If economic profits are negative but accounting profits are positive, then

A) accounting profits are less than implicit costs.

B) total revenues are greater than the sum of explicit and implicit costs.

C) explicit costs exceed total revenues.

D) normal profits are zero.

In the short-run Keynesian model where the marginal propensity to consume is 0.5, to offset a
recessionary gap resulting from a $1 billion decrease in autonomous consumption, taxes must be:

A) increased by $1 billion. B) decreased by $1 billion.
C) increased by $2 billion. D) decreased by $2 billion.
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Suppose that the Taiwan can produce 400 million donuts or 10 million cars in a year. China can
produce 1600 million donuts or 8 million cars in a year. Both countries will gain from trade if
Taiwan cars and China donuts.

A) exports; exports '

B) imports; exports

C) exports; imports
D) imports; imports

If the Central Bank pursues an expansionary monetary policy, investment in Taiwan will

and net exports will

A) increase; increase

B) decrease; decrease

C) increase; decrease

D) decrease; increase

S S BEYIEEEE - SWEE 5 A BHENENT 2 25 A -

1.

The CPI in 2000 was 82, and the CPI in 2010 was 202. If you earned a saléry of $300,000 in 2000,
what would be a salary with equivalent purchasing power in 20107

A monopolist faces the following demand curve and total cost curve for its product: Q = 200 - 2P,
TC = 5Q. Suppose that in addition to the tax, a business license is required to stay in business. The
license costs $1000. What is the profit maximizing level of output?

Lead cut 3,000 heads of hair in the year 2009 and 3,100 in the year 2010. The price of a haircut
was $70 in 2009 and $80 in 2010. If the year 2009 is the base year, what was Lead's contribution

to real GDP in the year 2010?

If the annual real rate on a 10-year inflation-protected bond equals 1.9 percent and the annual
nominal rate of return on a 10-year bond without inflation protection is 4.4 percent, what average
rate of inflation over the ten years would make holders of inflation-protected bonds and holders of
bonds without inflation protection equally well off?

In a country that operates according to Okun's law, real GDP is $96 trillion, the actual rate of
unemployment is 8 percent, and the natural unemployment rate is 6 percent. What is potential
GDP in the country?
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1.

Suppose a firm has the production function: Q =10K>L*, If the wage rate is $20 per unit of labor
and the rental rate of capital is $100 per unit, how much capital and labor should the firm employ
in the long run to maximize output while spending exactly $10,000? (15 %)

If firms and workers have adaptive expectations, what impact will expansionary monetary policy
have on inflation, unemployment, and the Phillips curve? (15 %)

How does an increase in government purchases financed by an increase in the deficit affect
exchange rates? Support your answer with graphs of the loanable funds market and the foreign

exchange market. (15 4+)
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1. —EAEE P EATERE ) BALEER LaIERE ) RESE THER B Y
TR EFEK - '
a. HARGERIEH b. B &K E ¥ c. RASFHA d. 1F&E &
2. ARIEE R FH (two-factor theory) - REAERETIENRBRE B F—
ERREBIE I -
a. BB AT b. % EF - c E£B/BAF d % %EHF

a. T/ R4b b. T EEL c. THEE @ d ITHEBHEL

4, |k msrERES(integration) 8965E » W TFH—EEEBRALAREER?
a. #E b WA C. 4L d. %4 -

5. B—fETAEESMTUEE TR T/EEER?

a TAEBEM b HAFELM c.IEEM | d IR
6. BEALTEALE  BWEATHRLAERILFELR  #A o 1
a. AL EES b. %3 AMAL c. HHEH d. BH#k A& %
7. RELEN—EHETESHE BIArRE T AER  BRARELSE N
HEEABEE BT FHGe
a. DEMCEMAE b OERE c. pEHEEE d EESRK
8. mB o EAMRREAITAN > RANEHOTET NI ERABG AR
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a. BE%REE b. B &EH CoC IR IEH d. A EH
9. 2 Ak R IE] BRI AW CEEE -
aﬁ% b. & C. B dBA
10. 7 1970 4%k 27 B 45 321842 4 £ 8 (benchmarking) #5 /> 8] & o
a.#8%/N8 b @EAAF C. 245\ 8] d 2gmpna

11 BExHETHE - #F > BB AR FroieR CEE—BAFATHIE

a. BFNIE b. g ik c. BFEAE d HEAE

12. FTHAMTHERREBHENERBEBREBHREHERER?
a. AEER b. %2 E K c.RHEEFEER d BRERER
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a. B8y b. ¥ IEME c. FREFEMY d. sx1E4bay
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a. BLEES b. & ¥4t c. TAE oy = 4R d. B AZEA#E1t

TH TR E T T EERNG— B R E B BT
a. 28X %HE b. T8 C. 48k oA d. &4

& #5717 (Hawthorne Studies)& € &89 H Rz — & HEHGBE .
a. 28X AR b. REARME c. ABEH4& d B HHEE
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a BHEHE b. B&E 1R C. FHAMF R d T EREZE
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bR E R ERE R —8Y
a. Fl AR M RE b. ER5EE C. ¥ A E d. BRAY
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z =7
a. BELAE b EMEIMHELE C AMERAFTLE d fF4LE

23 Burns & Stalker » A& T o AR M ARZF R K > TIMTH TR B84
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a AHEmEELESE bD.BREAN c EEREMR  dEFHRBEX
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a.Profit . b.Liquidity c. Leverage d. Activity

28, —fEmE —RANREZNMBREAF =M THEMEREELF?
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a. Eak %3 b. 18 AP c. ##% A HFRE
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31. McGregor 32 i V3% » HAMITAFLEAER  TIMTERBE T —7

a. e XkWEHRE b IMLEEAE c. EXRB®I A TiESEAL
32. BEWTmEERRR T o I —BRIAT E 42491387

a. unity of command b. centralization

c. scalar chain d. stability of staff

33. ABAEHTREARDAF EEEZEHIE  RTIMERABL T2 —2
Ca IHHLE b, MBIk & c.H#E  d REHYE
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BETXEABARK- ’
a. autocratic b. consultative participation
c. paternalistic d. democratic participation
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a. FEMGEXRE b EXFRE CcHAIIARERE JdBRERIEE
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38. BB PNV EE2—SETHUAEHRBEEHFE 'F?'Hﬂ%‘fﬂ'i$ 27
a. Bl A b. #& R A c.EAREE dAFHEEZR
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1.

It costs each lakeside firm $300 per period to use filters that avoid polluting the lake. However,
each firm must use the lake's water in production, so it is also costly to have a polluted lake. The

cost to each firm of dealing with water from a polluted lake is $200 times the number of polluting

firms. If the game just be played only once, the equilibrium of this game will be
A) both firms pollute.-

B) only Lago pollutes.

C) only Nessie pollutes.

D) neither firm pollutes.

In a short-run production process, the marginal cost is rising and the average total cost is falling as
output is increased. Thus, marginal cost is

A) below average total cost.

B) above average total cost.

C) between the average variable and average total cost curves.

D) below average fixed cost.

Suppose a competitive firm and a monopolist are both charging $10 for their respective outputs.
One can infer that

A) marginal revenue is $10 for both firms.

B) marginal revenue is $10 for the competitive firm and less than $10 for the monopolist.

C) marginal revenue is less than $10 for both firms.

D) the competitive firm is charging too much and the monopolist too little.

One reason that variable factors of production tend to show diminishing returns in the short run is
that

A) too much capital equipment is idle.

B) there are too many workers using a fixed amount of productive resources.

C) the firm has become too large to effectively manage workers.

D) the cost of hiring additional workers increases as firms seek to hire more.

Suppose the demand function is: Q—a—b*P where b is positive and the price P; gives us a price

elasticity of demand equal to 1. Any price lower than P; will move us to the part of the
demand curve.

A) elastic B) unitary elastic

C) inelastic D) perfectly inelastic

Assume that a profit maximizing monopolist is producing a quantity such that marginal revenue

exceeds marginal cost. We can conclude that the

A) firm is maximizing profit.

B) firm's output is smaller than the profit maximizing quantity.

C) firm's output is larger than the profit maximizing quantity.

D) firm's output does not maximize profit, but we cannot conclude whether the output is too large
or too small.

If demand increases while supply decreases simultaneously, the new equilibrium price is
and the new equilibrium quantity is _

A) lower; lower

B) lower; indeterminate

C) indeterminate; higher

D) higher; indeterminate
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8. Suppose Job is going to buy a car and a cell phone. Assuming the marginal cost of searching for
~ both is the same, one can predict that Job will
A) spend more time searching for the car than the cell phone.
B) spend more time searching for the cell phone than the car.
C) spend equal amounts of time searching for the cell phone and the car.
D) trust the information from her car agent but not from the cell phone salesperson.
9. The bandwagon effect corresponds best to which of the following?
A) snob effect.
B) external economy.
C) negative network externality.
D) positive network externality.
10. If a monopolist sets her output such that marginal revenue, marginal cost and average total cost are
equal, economic profit must be: :
A) negative. B) positive.
C) zero. D) indeterminate from the given information.
11. The cost-output elasticity equals 1.8; this implies that:
A) there are neither economies nor diseconomies of scale.
B) there are economies of scale.
C) there are diseconomies of scale.
D) marginal cost is less than average cost.
12. For a given level of inflation, if bright prospects for the future of the economy cause businesses to
increase their spending on new capital, then the shifts
A) aggregate demand curve; right '
B) aggregate demand curve; left
C) short-run aggregate supply line; upward
D) short-run aggregate supply line; downward
13. To accommodate an adverse inflation shock the Fed must ___, while to offset the effect of an
increase in aggregate demand the Fed must
A) lower the inflation rate target; adjust the real interest rate target to the level at which saving
equals investment in the Jong run.
B) raise the inflation rate target; adjust the real interest rate target to the level at which saving
equals investment in the long run.
C) maintain the inflation rate target; maintain the real interest rate target
D) adjust the real interest rate target to the level at which saving equals investment in the long run;
lower the inflation rate target.
14. An increase in the demand for loanable funds will occur if there is
A) an increase in expected profits from firm investment projects.
B) an increase in the real interest rate.
C) an increase in the nominal interest rate accompanied by an equal increase in inflation.
D) a decrease in the real interest rate.
15. If workers leave a country to seek out better opportunities in another country, then this will

A) move the original economy down along a stationary short run aggregate supply curve.
B) move the original economy up along a stationary short run aggregate supply curve.

C) shift the short run aggregate supply curve of the original country to the left.

D) shift the short run aggregate supply curve of the original country to the right.
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L.

2.

Assume the money supply in Wonderland is 10,000, and currency held by the public equals bank
reserves. The desired reserve/deposit ratio is 0.25. What is the value of Bank reserves?

If the annual real rate on a 10-year inflation-protected bond equals 1.9 percent and the annual
nominal rate of return on a 10-year bond without inflation protection is 4.4 percent, what average
rate of inflation over the ten years would make holders of inflation-protected bonds and holders of
bonds without inflation protection equally well off? '

What is the purchase price of a Treasury bill that pays $10,000 in one year and has an interest rate
of 3 percent?

B=E M - BTETRE 0 405 0 FER T RE AR B T AR

An

economy is described by the following equations and assumptions.
+ Consumption function C=300+0.6(Y -7)—-1,000~, r is real interest rate, expressed as a

decimal.
+ Planned investment function: I” =200-500r
+ Government purchase(G) G =160
+ Export(EX) EX =50
¢+ Import(IM) IM =20
¢+ Tax T=300
+ Current inflation rate 7 = 0.06
+ Desired reserve-deposit ratio = 0.3
¢+ Money demand function M 4=300-1,0007, i isnominal interest rate, expressed as a decimal.

“+ People hold money in the form of deposit.

¢+ Current bank reserves = 54
+ Potential output ¥" =900

According to the above data, please answer the following questions. (40 4 » &/ A& 5 %)

L.

Use a graph to show the. equlhbrlum of the money market. Explam why the equilibrium is an
“equilibrium.”

Find the short-run equilibrium output; show it in a Keynesian cross diagram. Does there exist any

recessionary gap or expansionary gap? How much is the gap?

How can the government adjust (i) G and (ii) T (fiscal policy) to eliminate the output gap? If the
government wants to (iii) balance its budget while eliminating the output gap, how can it do?

If the nation’s central bank wants to eliminate the output gap, it can adjust desired reserve-deposit
ratio, how can it do to eliminate the output gap.

The central bank’s Monetary Policy Reaction Function (MPRF) is r=r"+g(r-n"), what is the
meaning of MPRF, and the value of g?

If the central bank sets 7" =0.04, 7' =0.05 and g=0.8, derive the AD curve and show it on a

AD-AS diagram.

Find the short-run and long-run equilibrium output and inflation rate.

Suppose initially the economy is in long run equilibrium. An adverse inflation shock (ex, oil price
increase) happen and push the inflation rate by 4%, use an AD-AD diagram to show short run and
long run equilibrium, and how can the FED do to eliminate the recessionary gap?
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1.

Quantitative data refers to data obtained with a(n)

a. ordinal scale

b. nominal scale

c. either interval or ratio scale

d. only interval scale
Statistical inference -

a. refers to the process of drawing inferences about the sample based on the

characteristics of the population
. is the same as descriptive statistics
c. is the process of drawing inferences about the population based on the
information taken from the sample

d. is the same as a census '
A statistics professor asked students in a class their ages. On the basis of this
information, the professor states that the average age of all the students in the
university is 24 years. This is an example of

a. acensus

b. descriptive statistics

c. an experiment

d. statistical inference
A tabular method that can be used to summarize the data on two variables
simultaneously is called

a. simultaneous equations

b. crosstabulation

¢. ahistogram

d. anogive
In a scatter diagram, a line that provides an approximation of the relationship
between the variables is known as

a. approximation line

b. trend line

c. line of zero intercept

~d. line of zero slope

In a cumulative percent frequency distribution, the last class will have a
cumulative percent frequency equal to

a. one

b. 100

c. the total number of elements in the data set

d. none of the above
Since population size is always larger than sample size, then the sample statistic

a. can never be larger than the population parameter

b. can never be equal to the population parameter

c. can be smaller, larger, or equal to the population parameter

d. can never be smaller than the population parameter
The weights (in pounds) of a sample of 36 individuals were recorded and the
following statistics were calculated.

mean = 160 range = 60-

£
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10.

1.

12.

13.

14.

15.

mode = 165 “variance = 324
median = 170
The coefficient of variation equals

a. 0.1125%
b. 11.25%
c. 203.12%

d. 0.20312%
If a six sided die is tossed two times and “3” shows up both times, the probability

of “3” on the third trial is
a. much larger than any other outcome
b. much smaller than any other outcome

c. 1/6
d. 17216
If A and B are independent events with P(A) 0.4 and P(B) = 0.6, then
P(ANB)=
a. 0.76
b. 1.00
c. 0.24
d. 0.20

Which of the following is a requlred condition for a discrete probability
function?

a. Zf(x)=0

b. f(x)>1 for all values of x
c. f{x)<0

d. =fx)=1

A continuous random variable may assume

a. any value in an interval or collection of intervals
~ b. only integer values in an interval or collection of intervals

c. only fractional values in an interval or collection of intervals

d. only the positive integer values in an interval
For any continuous random variable, the probability that the random variable
takes on exactly a specific value is

a. 1.00

b. 0.50

c. any value between 0 to 1

d. almost zero
Which of the following is not a characteristic of the normal probability
distribution?

a. The mean, median, and the mode are equal

b. The mean of the distribution can be negative, zero, or positive

c. The distribution is symmetrical

d. The standard deviation must be 1
Consider a binomial probability experiment withn=3 and p=0.1. Then, the
probability of x = 0 is

a. 0.0000

b. 0.0001
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16.

17.

18.

19.

20.

21.

22.

23.

c. 0.001

d. 0.729
A population consists of 500 elements.
sample of 50 elements from this population.
probability of an element being selected is

We want to draw a simple random
On the first selection, the

a. 0.100
b. 0.010
c. 0.001
d. 0.002

As the sample size increases, the
a. standard deviation of the population decreases
b. population mean increases
c. standard error of the mean decreases
d. standard error of the mean increases
From a population with a variance of 900, a sample of 225 items is selected. At

~ 95% confidence, the margin of error is

a. 15
b. 2
c. 3.92

d. 4
An estimate of a population parameter that provides an interval of values

believed to contain the value of the parameter is known as the

a. confidence level ‘

b. interval estimate

c. parameter value

d. population estimate
The level of significance is the

a. maximum allowable probability of Type II error

b. maximum allowable probability of Type I error

c. same as the confidence coefficient

d. same as the p-value
Your investment executive claims that the average yearly rate of return on the
stocks she recommends is more than 10.0%. = You plan on taking a sample to
test her claim. The correct set of hypotheses is

a. Hyy p<10.0% H;: p=10.0%

b. Hp: pn<10.0% H,: p>10.0%

c. Hp: pn>10.0% Hp: p<10.0%

d Hp: pn=>10.0% Ha.a p<10.0%

For a two-tailed test at 86.12% confidence, Z =

a. 1.96 ’
b. 1.48

c. 1.09

d. 0.86

When developing an interval estimate for the difference between two sample
means, with sample sizes of n; and ny,
a. nj must be equal to n
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b. nj must be smaller than n;
c. nj must be larger than ny
d. n; and n, can be of different sizes,

24. Independent simple random samples are taken to test the difference between the
means of two populations whose standard deviations are not known. The
sample sizes are nj = 25 and n; = 35. The correct distribution to use is the

a. Poisson distribution
b. t distribution with 60 degrees of freedom
c. t distribution with 59 degrees of freedom
d. t distribution with 58 degrees of freedom
25. The sampling distribution of p, — P, is approximated by a
a. normal distribution
b. t-distribution with n; + ny degrees of freedom
c. t-distribution with n; + np — 1 degrees of freedom
d. t-distribution with n; + ny + 2 degrees of freedom

(=) REECRE (3533878 BEFS04)

(1)  Consider the following data for two variables x and y.

X y
1 1
4 6
7 9
8 7
9 4
10 3

a. An estimated regression equation of the form §=bg+b;x was developed for
the above data and the results are shown below. ~Comment on the adequacy
of this equation for predicting y.  Let o.=0.05. (1043)

SUMMARY OUTPUT .

Regression Statistics

Multiple R 0.3052
R Square - ©0.0932
Adjusted R Square -0.1335
Standard Error 3.0857
Observations 6
ANOVA :
df SS MS F Significance F
Regressio
n 1 3.9130 3.9130 0.4110 0.5564
Residual 4 38.0870 9.5217
Total 5 42

Coefficients _Standard Error _t Stat P-value
Intercept 3.3043 2.9297 1.1279 0.3224
X 0.2609 0.4069 0.6411 0.5564
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b. Now, another regression equation of the form § = by + b x+ b,x* was
developed for the above data and results are shown below. Comment on the
adequacy of this equation for predicting y. Leto=0.05 (104)

SUMMARY
OUTPUT
Regression Statistics
Multiple R 0.9508
R Square 0.9041
Adjusted R Square 0.8401
Standard Error 1.1588
Observations 6
ANOVA »
ar SS MS F  Significance F

Regression 2 37.9713  18.9856 14.1376 0.0297
Residual 3 - 4.0287 1.343
Total 5 42

Coefficients Standard Error tStat P-value
Intercept -2.6808 1.6196 -1.655 " 0.1964
X 3.6803 0.6960 5.2879 0.0132
x-squared - -0.3133 0.0622 -5.036 0.0151

~ (2) Brakes Shop, Inc., is a franchise that specializes in repairing brake systems of
automobiles. The company purchases brake shoes from a national supplier.
Currently, lots of 1,000 brake shoes are purchased, and each shoe is inspected
before being installed on an automobile. The company has decided instead of
100% inspection to adopt an acceptance sampling plan. :
a. Explain what is meant by the acceptance sampling plan. If the company decides to
adopt an acceptance sampling plan, what kinds of risks are there? (104)

b. The quality control department of the company has decided to select a sample of
10 shoes and inspect them for defects. Furthermore, it has been decided that if the
sample contains no defective parts, the entire lot will be accepted. If there are 50
defective shoes in a shipment, what is the probability that the entire lot will be
accepted? (543)
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(3) It is believed that sales of books at a local bookstore follow a Poisson distribution.
Below you are given information on the number of books sold during a sample of
15-minute intervals.

Number of Books Frequency
' 2

3

12

16

19

20

18

16

9

5
120
a. State the null and alternative hypotheses. (‘543-)

N=RECLREN e N SO U N

b. Compute the test statistic and draw conclusion of the test with o= 0 .05, given
that Aroos =14.067 (10553
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Are the following statements (1~10) true or false? Give an explanation for your

answer or a counterexample if the answer is false.

There is a function which is continuous on [0,4] but not differentiable at x=3 (S‘V)
If a function is continuous, then it is differentiable. (50/)

If f(a) #g(b), then f’(a) # g’ (b). (50/) \

The derivative of a polynomial is always a polynomial (S‘VQ

Suppose £ and g” exist and f and g are concave up for all x. Then f(x)g(x) is

A

concave up. (5 %)

If £(x)= g°(x), then f(x)= g(x).(5%)

If £7(x)>0, then f’(x) is increasing.(S%)

A critical point of /' must be a local maximum or minimum of £ (5 %)

Since f(x)=1/x is continous for all x>0, and the interval (0,1) is bounded, f has a
maximum on the interval (0,1).(5%)

10. If g’(a) #0, then lim x—a f(x)/g(x)=f’(x)/g’(x).(5%)

Calculate the following (11~1 8)(5% each)

N {noX ~ . : -
j@e + 2 5imp) AX Q‘j«l}? ol x

XY 0 N

’7(4" | . ' 4 3

u‘j Xﬂ)ﬂ%

Ao
),
JO 'éj

d (% .
>

. o
¢ d/w{j (éf /-1p/)h;x.‘mm*éjom A x

Chint - {/15"71(7 Tmylar SW}

19. You run a small furniture business. You sign a deal with a customer to deliver up
to 400 tables, the exact number to be determined by the customer later. The price
will be $900 per table up to 300 tables, and above 300, the price will be reduced by
$2.5 per table(on the whole order) for every additional chair over 300 ordered. What
are the largest and smallest revenues your company can make under this deal?(‘l 0%)
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1. The introduction of refrigerators into home market:
A) decreased the short run own price elasticity of demand for raw meat.
B) did not affect the short run own price elasticity of demand for raw meat.
C) increased the short run own price elasticity of demand for raw meat.
D) decreased the short run own price elasticity of demand for smoked meats.

2. Holiday Burgers has discovered there are economies of scope available to the restaurant. Which is
most likely to be a response to this discovery?
A) Holiday adds more varied inputs to burger production.
B) Holiday expands burger production, focusing on that one good.
C) Holiday contracts burger production.
D) Holiday adds grilled chicken sandwiches to the menu.

3. Season ticket holders for the baseball team 7-11 Lions received a surprise when they received their
applications to renew their season tickets. In order to get your season ticket to the 7-11 Lions’
home games, you had to buy tickets to the preseason games. Many season ticket holders grumbled
about this practice as an underhanded way for the 7-11 Lions to get more money from its season
ticket holders. This practice is an example of:

- A) peak-load pricing.
B) intertemporal price discrimination.
C) two-part tariff.
D)bundling.

4. Generally speaking, demand for a good will be more inelastic
A) if few substitutes exist. : :
B) when the good represents a large share of the consumer's budget.
C) in the long run. S '
D) when many substitutes exist.

5. The cost-output elasticity equals 1.6; this implies that:

A) theré are neither economies nor diseconomies of scale.
B) there are economies of scale.

C) there are diseconomies of scale.

D) marginal cost is less than average cost.

6. If it'is impossible or highly costly to prevent consumers from consuming a good when they have
not paid for it, the good is a(n) good.
A) nonexcludable
B) pure public
C) private
D) nonrival _
7. Which of the following statements is true regarding the differences between economic and
~accounting costs?
 A) Accounting costs include all implicit and explicit costs.
B) Economic costs include implied costs only.
C) Accountants consider only implicit costs when calculating costs.
D) Accounting costs include only explicit costs.
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8.  When the production process extends over more than one year, the value of the final product is:
A) included in GDP for the year in which production began.
B) included in GDP for the year in which production was completed.
C) allocated to GDP in each year according to the value added in that year.
D) allocated equally to GDP in each year.

9. Real GDP per person in country R is $2,000, while real GDP per person in country P is $1,000.
However, country R's real GDP per person is growing at 1% per year and country P's is growing at
2% per year. After 50 years, real GDP per person in country R minus real GDP in country P is
A) greater than $10,000
B) positive, but less than $10,000
C) zero
D) negative

10. Other things being equal, if terrorist attacks increase the desire for precautionary saving, then the
real interest rate will and the equilibrium quantity of saving and investment will

A) increase; increase
B) decrease; decrease
C) increase; decrease
D) decrease; increase

11. Other things being equal, a decrease in the rate of inflation __ planned spending and ___
short-run equilibrium output. ' :
A) increases; increases
‘B) increases; decreases
C) decreases; decreases
D) decreases; increases

12. If the market equilibrium value of the nominal exchange rate equals 0.11 U.S. dollars per yen, but

the yen is officially fixed at 0.12 U.S. dollars per yen, then the yen exchange rate is and to
maintain this exchange rate there will be in the government's stock of international
reserves.

A) undervalued; a net decline
B) undervalued; a net increase
C) overvalued; a net increase
D) overvalued; a net decline

13. If a Japan firm produces cars in the United States, that production should count towards
A) both U.S. GNP and Japan GDP. ' '
B) U.S. GDP.
C) Japan GDP.
D) U.S. GNP

14. An increase in public savings has what impact on the market for loanable funds?
A) The supply of loanable funds increases.
B) The demand for loanable funds decreases.
C) The supply of loanable funds decreases.
D) The demand for loanable funds increases.

15. Expansionary fiscal policy the price level and equilibrium real GDP.
A) decreases; increases
B) increases; increases
C) increases; decreases
D) decreases; decreases
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1 6 21 5

2 12 39 12

3 18 54 21

4 24 66 32

5 30 75 45

6 36 81 60

7 42 84 77

8 48 - 84 96
BAALAEETFIRMA ‘

a) HHBKREAM T EARBNBAE QAM?UNLEETFMm T > BRENHHHE QX
?%’I‘I 9 ﬁé.. Jt*']'-n- Qpé‘lg‘ Qt (10 /\)

b) kR BATREXSIWHAEH Q7 3 ] Coase Theorem 4% IR BhofT 3k HI 4 B Q. 7
(S a)

3. Explain why increasing the government budget deficit can decrease investment spending. (10 4)

4. Ina paftic'ular U.S. market, quantity demanded is given by Q% =500-20P and quantity supplied

is given by Q° =50+30P. The world price for this product is $6, and an unlimited amount can be
purchased at this price. (15 4~ * &/\2 5 %)

a) With imports prohibited by the U.S., what is the domestic equilibrium price and quantity?

b) Now suppose the government opens up the U.S. economy to free trade. How will this affect the
equilibrium market price, the quantity supplied by domestic suppliers, the quantity purchased by
domestic consumers, and the level of imports?

c) Finally, suppose the government sets a tariff of $2 per unit. How will this affect the equilibrium
market price, the quantity supplied by domestic suppliers, the quantity purchased by domestic
consumers, and the level of imports? ‘
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The nominal scale of measurement has the properties of the

a. ordinal scale

b. only interval scale

c. ratio scale

d. None of these alternatives is correct.
Statistical inference

a. refers to the process of drawing inferences about the sample based on the

characteristics of the population
b. isthe same as descriptive statistics
c. isthe process of drawing inferences about the population based on the
information taken from the sample

d. isthe same as a census
A statistics professor asked students in a class their ages. On the basis of this
information, the professor states that the average age of all the students in the
university is 24 years. This is an example of

a. acensus

b. descriptive statistics

c. an experiment

d. statistical inference
A tabular method that can be used to summarize the data on two variables
simultaneously is called

a. simultaneous equations

b. crosstabulation

c. ahistogram

d. anogive

~ In a scatter diagram, a line that provides an approximation of the relationship

between the variables is known as

a. approximation line

b. trend line

c. line of zero intercept

d. line of zero slope
In a cumulative percent frequency distribution, the last class will have a
cumulative percent frequency equal to

a. one

b. 100

c. the total number of elements in the data set

d. none of the above
Since the population size is always larger than the sample size, then the sample
statistic

a. can never be larger than the population parameter

b. can never be equal to the population parameter

c. can be smaller, larger, or equal to the population parameter

d. can never be smaller than the population parameter
The variance of a sample of 169 observations equals 576. The standard
deviation of the sample equals
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10.

11.

12.

13.

14.

15.

16.

a 13

b. 24

c. 576

d. 28,461

If a six sided die is tossed two times and “3> shows up both times, the probability
of “3” on the third trial is '
a. much larger than any other outcome
b. much smaller than any other outcome
c. 1/6 |
d. 1/216
If A and B are independent events with P(A) = 0.4 and P(B) = 0.6, then
P(ANB)= _
a. 0.76
b. 1.00
c. 0.24
d. 0.20
Which of the following is a required condition for a discrete probability -

function?

a. Zf(x)=0

b. f(x)=1 forall values of x
c. fx)<0

d Zfx)=1

A continuous random variable may assume

a. any value in an interval or collection of intervals

b. only integer values in an interval or collection of intervals

‘c. only fractional values in an interval or collection of intervals

d. only the positive integer values in an interval
A probability distribution showing the probability of x successes in n trials,
where the probability of success does not change from trial to trial, is termed a

a. uniform probability distribution

b. binomial probability distribution

c. hypergeometric probability distribution

d. normal probability distribution
Which of the following is not a characteristic of the normal probability
distribution?

a. The mean, median, and the mode are equal

b. The mean of the distribution can be negative, zero, or positive

c. The distribution is symmetrical

d. The standard deviation must be 1
Consider a binomial probability experiment withn =3 and p=0.1. Then, the
probability of x = 0 is

a. 0.0000
b. 0.0001
c. 0.001
d. 0.729

A population consists of 500 elements. We want to draw a simple random




B L A21002 £ FRE 384 £ R RE

#E HALHET (L84 PHmLETaiES]

17.

18.

19.

20.

21.

22.

23.

sample of 50 elements from this population. On the first selection, the

probability of an element being selected is

a. 0.100
b. 0.010
c. 0.001
d. 0.002

As the sample size increases, the

a. standard deviation of the population decreases

b. population mean increases '

c. standard error of the mean decreases

d. standard error of the mean increases \
A population has a mean of 75 and a standard deviation of 8. A random sample
of 800 is selected. The expected value of x is

a. 8
b. 75
c. 800

d. None of these alternatives is correct.
An estimate of a population parameter that provides an interval of values
believed to contain the value of the parameter is known as the

a. confidence level

b. interval estimate

c. parameter value

d. population estimate
The level of significance is the

a. maximum allowable probability of Type II error

b. maximum allowable probability of Type I error

c. same as the confidence coefficient

d. same as the p-value '
Your investment executive claims that the average yearly rate of return on the
stocks she recommends is more than 10.0%. You plan on taking a sample to
test her claim. The correct set of hypotheses is

a. Hpy p<100% Hp: p>10.0%
b. Hyp: p<10.0% Hz p>10.0%
c. Heo pu>10.0% H,: p<10.0%
d. Hp: p210.0% Ha p<10.0%
For a two-tailed test at 86.12% confidence, Z =
a. 1.96
b. 1.48
c. 1.09
d. 0.86

When developing an interval estimate for the difference between two sample
means, with sample sizes of n; and ny,

a. nj must be equal to n

b. n; must be smaller than n,

c. n; must be larger than n,

d. n; and n, can be of different sizes,




: - B by REI002 FEAR 5238 4 & A

#E HAGHLT [HF4 T barTmEe)

24. Independent simple random samples are taken to test the difference between the
means of two populations whose standard deviations are not known. The
sample sizes are n; =25 and np = 35. The correct distribution to use is the

-a. Poisson distribution
b. tdistribution with 60 degrees of freedom
c. tdistribution with 59 degrees of freedom
d. tdistribution with 58 degrees of freedom
25. The sampling distribution of 51 —p, is approximated by a
a.. normal distribution
b. t-distribution with n; + n, degrees of freedom
c. t-distribution with n; + ny — 1 degrees of freedom
d. t-distribution with n; + ny + 2 degrees of freedom

(=) FEEE (33380 > A5 504)

(1). A professor believes that the final examination scores in statistics are normally
distributed. A sample of 40 final scores has been taken. You are given the sample
below. The mean of the scores is 83.1, and the standard deviation is 10.43.

56 63 65 68 712 72 73 75 71 78
78 79 80 8 80 80 8 80 81 81
89 8 8 8 8 8 8 90 90 92

92 93 93 94 95 96 97 98 100 100

a. State the null and alternative hypotheses. (543-)

b. Cqmpute the test statistic and draw conclusion of the test with d = 0.01, given that
Xso01 = 15-086_ (1043°)

(Zj Consider the following data for two variables x and y.

X y
1 1
4 6
7 9
8 7
9 4
10 3

a. An estimated regression equation of the form §=bg+b;x was developed for
the above data and the results are shown below. Comment on the adequacy
- of this equation for predictingy. Let a.=0.05. (104)

SUMMARY OUTPUT

Regression Statistics

Multiple R _ 0.3052
R Square ‘ 0.0932
Adjusted R Square -0.1335
Standard Error 3.0857

Observations .6
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ANOVA
df SS MS F Significance F

Regressio :
n 1 3.9130 3.9130 0.4110 0.5564
Residual 4 38.0870 . 9.5217
Total 5 42

Coefficients _ Standard Error _t Stat _ P-value
Intercept 3.3043 2.9297 1.1279 0.3224
X 0.2609 0.4069 0.6411 0.5564

b. Now, another regression equation of the form §= by + b, x+b,%% was
developed for the above data and results are shown below. ~Comment on the
adequacy of this equation for predicting y. Leta=0.05 (1053)

SUMMARY
OUTPUT

Regression Statistics

Multiple R 0.9508
R Square 0.9041
Adjusted R Square 0.8401
Standard Error 1.1588
Observations 6
ANOVA '
ar SS MS F  Significance F
Regression 2 37.9713  18.9856 14.1376 0.0297
Residual 3 4.0287 1.343
Total 5 42

' Coefficients Standard Error _t Stat _P-value
Intercept -2.6808 1.6196 -1.655 0.1964

X 3.6803 0.6960 5.2879 0.0132
x-squared -0.3133 0.0622 -5.036 0.0151

(3) Information regarding random samples of annual salaries (in thousands of dollars)
of doctors in three different specialties is shown below.
Pediatrics  Radiology Pathology

Sample size 12 10 11
Average salary 120 186 240
Sample variance 16 18 20

a. State the null and alternative hypotheses to be tested. (553°)
b. Show the ANOVA table and conduct the test with Fo s =3.32.  (1053-)
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Are the following statements (1~10) true or false? Give an explanation for your
answer or a counterexample if the answer is false. '
There is a function which is continuous on [0,4] but not differentiable at x=3. (5‘V>
If a function is continuous, then it is differentiable. (SCV)

If f(a) #g(b), then £°(a) # g’ (b). (5%)

A critical point of fmust be a local maximum or minimum of /; (5 %)

Since f(x)=1/x is continuous for all x>0, and the interval (0,1) is bounded, fhas a

A

maximum on the interval (0,1).(5 %)

6. Ifg’(a) #0, then lim x—a f(x)/g(x)=f*(x)/ g’(x).(S%)

7. The derivative of a polynomial is always a polynomial.(S%)

8. Suppose £’ and g” exist and f and g are concave up for all x. Then f{g(x)) is
concave up for all x. (5%)

9. ffX)= g’'(x), thenf(x) = g(x))(S%)

10. If £(x)>0, then f*(x) is increasing.(5%)

Calculate the following (11~1 8)(5% each)

irbfvé:mx /Zy( AL Ax /SJﬂX e>” ) olx
4-Jée + 24510 ) ol x i§:ﬁ« 0%

S X ] ’Xl
IQ.LJQQ drx ly ,q_iJ im () dt

OAX

(8. A 7Pucncf\‘m4 1( Haa 7&3)=}/ -‘Fi(%):7 G(/!/\5{7[i'/(.3)r; -~
F‘:/VV\OI Ho boot M’/’(‘f:fﬂr:{/{‘-é \éw Coan .P@Y 7@(;‘,)

19. You run a small furniture business. You sign a deal with a customer to deliver up
to 400 tables, the exact number to be determined by the customer later. The price will
be $900 per table up to 300 tables, and above 300, the price will be reduced by $2.5
per table (on the whole order) for every additional chair over 300 ordered. What are
the largest and smallest revenues your company can make under this deal? ( 1 O%)




